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wER BMESTEICESMTRSEREEES

% ] AR - Rk By Y 8 B ff & 8 =
BRI 26,126,400 + 9,987,096 36, 113, 496
BEEAGE 26, 126, 400
E#ERE 9,987, 096
T DAt R i 26,126,400 x 42.86% ( 30% = (1 — 30% ) ) 11,197,775
BRI 36,113,496 + 11,197,775 47,311, 271
—REEEE 47,311,271 x 53.85% ( 35% <+ (1 — 35%) ) — 8,390 25, 468, 729
EZ {35 47,311,271 + 25,468,729 72, 780, 000
HBETEALE 72,780,000 x 10.00% 7,278,000
EBERH 72,780,000 + 7,278, 000 80, 058, 000




BEARE BEATEICHESMTREEREEES

£ [ BE - BIRtE BT % = B & # wE
BRI 36, 113, 496
MITREFREERT 36, 113, 496
MITRERFRREERT 36, 113, 496
EEAGE 26, 126, 400
MITREFRREERT 25, 767, 600
1 MITREFEREEER 1.00 25, 767, 600 25, 7617, 600
=
TEE 303, 600
2 {TEE 11.00 217, 600 303, 600
=]
W& - I|E 55, 200
3 i - mE 2.00 27, 600 55, 200
=
EERE 9, 987, 096
EHRAME 91, 020
4 BEHEARE 1.00 91, 020 91, 020
=
BREHERAN 182, 040
5 BEBERAN 1.00 182, 040 182, 040
=
EBAEBREEHRUGERE 2,307,036
6 XEBERAEHEEH 1.00 2,034,000 2,034,000
=
1 iRRE AISRRV X T L ERVHFER (RIEEOH) 1.00 273.036 273,036
=




BEARE AEBIECHESMTRSEREELER

% L] BR& - MAKTiE BfL % 8 B ® % m =
fEamie it 7,392, 000
8 1HEiMtH 1.00 7,392, 000 7,392,000
=
DS 15,000
9 EHEMREM 1.00 15, 000 15, 000
=




KR -/ \vr—

MEEIERICHIMTREBREERS

&5 1
2 MARSEREELER EEL)
% 5 BIE - kA Bify % B B ® HE i % =
iR TS B 118
A 240. 00 69, 440. 00 16, 665, 600
WIS BRI : 4B
A 55. 00 21, 600. 00 1,518, 000
LTS B : 8RS
A 240. 00 31, 600. 00 7,584, 000
& it 1EZBER - 1.00 25,767, 600. 00 25,767, 600
5:2
& fTEE IEED)
% 5 1RIE - kA B w8 B & H i % =
HER (A)
A 0.50 55, 200. 00 27, 600
& B 1EZ8EH - 1.00E 21, 600. 00 21, 600
5:3
2 thil - g 1EY Y
\ % 5 [ 1R - BTk B 5 B | B & & i % =
HER (A)
A 0.50 55, 200. 00 21, 600
& F YEZRER : 1.00[E 21, 600. 00 21, 600
5.4
2% BHASE IE€ L)
% ] R - R B B 8 E & & i % =
EBARE
=® 1.00 91, 020. 00 91, 020
& i 1EZBER - 1.00 91, 020. 00 91, 020




REAR-FET/vTr—> BESIEICHSMARSEREELS

&S5
2 . BEERERN IEEL,
% £ - BIRTiE BARL #H = B i & 8B IS i &
BERERR
= 1.00 182, 040. 00 182, 040
= il 1YE%HeH - 1.00K 182, 040. 00 182, 040
&S :6
2% EBAEH=EEH 15ty Y
% 5 R - BRTiE BAGT 8 = B ff & 8B W = i &
XBAEBEEHNRVERES
= 1.00 2,034, 000. 00 2,034, 000
‘e i ‘ﬂs%ﬁ&n - 1.00st ‘ ‘ ‘ 2,034, 000. 00‘ 2,034, 000‘
&5 :17
2 HAEE AISRRVRTL EBRVHFER (FEOH) XLy
% E R - BIRTE BARL #H = B i € 8B IS % &
ASERRVRATLE
B 366. 00 746. 00 2173, 036
= it 1E%HERN - 1.00K 2173, 036. 00 2173, 036
&S :8
2 - REREEEH 1XEY
% 5 R - BIRTE BARL B B B ff & 8 IS % &
BRI O BM
B 240. 00 30, 800. 00 7,392, 000
& BT YEZERES - 1,00 7,392, 600. 60 7,352, 600




REAR-FET/vTr—> BESIEICHSMARSEREELS

&S :9
& EBRER
£ i R - TRtk B {5 % 2 B & & = H %
EBRERE
= 1.00 15, 000. 00 15, 000
= il 1YE%HeH - 1.00K 15, 000. 00 15, 000




